ob021040 220

ooubbboooobboooobbbooooobboogoo

000000000000 oooooooo
00000 ChiaYeeOoi® O 00D D000 00000 OO OOO0OOHD

1000000000000 ooOooo 73134 00000ooooooog 3-4-1
tFaculty of Electrical Engineering, University of Technology Malaysia, Malaysia O
81310 UTM Skudai Johor MALAYSIA
0000000000000 0000D00000 630-01920000000000
E-mail: a) oka@cd.info.hiroshima-cu.ac.jp, b) ooichiayee@fke.utm.my,
¢) {ichihara, tomoo} @hiroshima-cu.ac.jp, d) fujiwara@is.naist.jp

1. OOod

O0D0000000D0000000000000 NP
gbobooboobooobooboooooobooonbo
gbobobobooobooooooooboooboan
[L,2l00000000000O0O000C0DODO0O0OOOO
gboboobooobooobooobooboobooonon
gbooboooooobooobooobooobooooa
gbobooooboobouoooooooooooan
gbobooooboobobobooobobooon
gboboooooobooooooobooooboooooon
OO0O0000opoooi0d0ODOOOOOODOUDOODnO
Or=0(r»"0n000000r0 200000000
gbooboobooooboobooooooooboooonon
OO0 [3,400000000000D000O0Oooooon
gbobobobobobobobobobooooao
gboboooobobouoboabobobooooan
O000o00o0O0oOoOoooooo[b,6,7,910000
goboooooobooooooobooooboooooon
00000000000000000000 72-bounded
gbgbobaooboooobooboboooooao
gobobooooobooooobooooobooooo
goboooooobooooooobooooooooon
gboobooboboobooboobobooobooao
gbobobobooobooooooooboooboan
gboboooooooooooooooooobooonbn
gbobooobobobooooboobooooan
gbobobobooobooooooooboooboan
O0000oO0o0o0oooooooo 81110

gogbgbodbooboboobooboboooba
O000000O00oO0oOo0oooUOoooooooo
O000000000000D0Oacyclical testabilityd O O
gogoboooboobbooobooobbooboobo

000000 (15000 [15100000 140000
0000000000000000000000000
00000000000000 72-bounded 00000
000000000 ([12100000000000000
0000000000000000000000000
0000000000000000000000000
000000000000000000000

000000000000000000000000
0[12]0000000000000000000000
0000000000000000000000 [12]0
00000000C0000O0000000000000
00000000000 00000000000000
0000000000000000000000000
0000000000000000000000000
00000000C0C00C00000000002000
0000000000000000000000000
000000000000000000000[12]100
0000000000000000000000000
000000000000 0000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000C0C00000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
000000000000O0000000000000
00000000

2. 0J0O0bDOoooooog

00 [3,400000000000000000 7=
O(r")0n000000r02000000 00000



0000000000000000 7f0000000
goobobdoooooboooooooooooooon
000000 72-bounded 0000000000000
goooboooboooboooboooboooooo
0000000000000 00r-equivalent 0O OO
00000000 [[2oooo coibooonoooon
0000000000000000 72-bounded O 00O
goooboboboobooooon

00 151 00000000000000000000
0000000 7%-bounded 000000000000
00000000000 acyclically testableD O OO 00O
00000o0ooooooo [12loooooooooon
0000000000000000 72-bounded 00O
gooodooboobbooobooobboooboo
goooooood

0100000 s;0000000000000000d
O O 0O 0O O combinational logic block ; CLBO O OO OO
000000O0bOO0OO0bOO0ObOobOOoboOocLBOOoOO
2000000000000 0000D0000OO0O0O00
godooloobboooooobooooooooa
000000 2@Uo00ooooooooo 1000
ooooooooooooo2boooon

o000 s;00o00oooooo0oooooan
gooboooobooooobbuooooooooo
gooobooobooboboooboooboooooo
oooDooooooos;, 000000 2000000
goodoobooooooboboooolioooooa
PI2000000 RIDR2O0R3OOCOODOOO PO1O
00ooooooono agdwroWoe20o0oooooo
00001000000 pr200000O R9O R10O
RIIORI20000000 PO2O000DOOOOOOO
O 30t40t90¢h0t6 00 0000000000000
gooooooooobobboooodgoooooo
doooooooooooboooooooooon 30
S;000docClBCc3ooooooooooooood
goobooobbobooobooobbooooo
dooDoooDoOooobOOooo cLBOOOOOOOO
00000000000 S;000{R1IOR20R3}0ODO
O00DO0O0O0{RIOORII}O00O0O0O0ODOOOOOO
goobooobboo0obboooboobooooo
goddooodddgdddooooooooooo
0do0oooooo30o0boo0o0ooooooon CLB
cl300000ooooooooooooooooao
gooooooooobboooooodgoooooo
goooooooooooooooboooooooo

R3

[Tl POL

C4

R1 R2

7
L
od cs

R4

=5

Pl cz
RS " RS
R6 12 pO?
c6 c9 t5 t6
c7 c8 c10 ﬂ >t
P > ci
g e
P4 Beed Rgr c13 | LCc14 o

Ouoooo s

t1 t3

ml m4=ml  { m6 m9=m6+m7
a ?m — d 7"m ?ﬁ i
b T~ |me=m2 9 =T | mio
c M) ™A o M8, taadl
CLB CLB
(a)HEHER L — (byFERIL—
0200000

t5 t6
C10.

By
Pl4 44 F C13 Cl4

P
pl14 — Tl C13 Cl4

0350 C300000000000

ooooooos,0ci3gooooooooooon
oooooooclkBOOooOooOOoOoDOoOoOoDogo
gboooboooooooon

3. Dooooooooogo
31 00000

ooboooooooOoo0oboooboooboRrROOOO

oopDooOoO0OOO0O0O0O SoRODOOOSODOOO

O01(RO0O0O): O0OODO SOD0O ROOO Gg

— (V,A,w,r,t)0000000000000000C

ooo

1. O0w(eV)OODOOOOOODOOOOOOOOO
goooobbooooooooooooooon
00o0ooOooooodve,Vi,VoOuoooov =
VUV UV OODOO

2. O (u,v) (€ A)00000000000C0C w000
gododdddoodg»0bboooooooo
gooooooooooooon

3. J0000O0O0DOOoDOODoDOowew» evVobooooo
wv) (w: V—Z*) 00000 (Z-00000)0

4. O0O0r0r:V—-{ho¢00000000 v €Vg



R3

c3 [T, POL
A1 c4
t1 4
P> g
C1

R8

R2

c2 cs
R6 L—m 12 P02
c9 t5 t6
c7 c8 C10, ﬂ >
PI3 i C1l
14‘ L>
t3 ﬂ - D” C14
Pl4 d RQV C13 R0 R11

040000 5

e

R3 PO1

050000580RO00 Gg,

0000000000000 Or(v)=A00000
O0v00000000000000000000
000D000000r(v)=¢0000

5. 2000000 (@QO0O000000)0 (w,0) (€ A)
000000 ¢+000000¢u,v)=t,00000
0000000000 tu,v) =¢000 (OO0
O00t:V2— FU{¢}, F ={t1,t2,....t, } 0000
0D0oo0ooo)o O

00000oO0oOoooono Soooo clBBOOO
0000000 ROOO Gg = (V,Aw,rt)0000
00 gs=(Vp,Ap)00OOODOOOOODO

o Vg = Vi UViu,

o Ap={(u,v) € Alu € Vin,v € Vouz }
0000V, Ve, OOOODOOCLBBOOOOODOO
Oo0oooooo(@oOooooooo)yooooooo

00000 000000000000000000
0000000000000000000000000
0000000 ¢ (e F)0DO00D0O v, (eV)00O
000000000000 {v,»} 00000000
000000a(t) ={v,v} 000 (a: F—2Y)00O
O0a(t;) =¢0000¢+ 0000000000000
000000000+ 0000000000000 v
goooobion ectived 0000000 noactive U
ooo

t5 t6
C10.

Pz c7 L ci
e > — Af
Pl4 L7 | C13 C14

t4
»

[ic
pls —> L7 | c13 Cl4

PIZ—>] c6

P2 5

06:50CRB8O00000O00O00OO0OO

32 J00O0OO00OOOOoo

00 [12]00000000000000000000
0000000000000000000000000
000000000000000000000O0OOO
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
[12100000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000[120000000000000000000
ooooooo

0000000 2000000000000
00 2@ 0000000000000): ROOO
O0Gr= V,Awht)00000000000 T/ =
(V7 A7), VI CV,A7 CADDDOOOOOOOOR
000 GgOOOOOOOODODO
1. 0000w (eV/)OOOOODOVE 0000000
2. 0000 (ww) (€ A/)DDODDODOOD

(V(u,v) € A7, t(u,v) # ¢)0
3. 0000000000000 7/00000000
000000000000000000Vt; C F,
71 t) N AT =t7Ht;) Vit (t) N AT = ¢
oooooo TP = (WP AP VP CcVv,AP cADDOO
00000000 ROOO GgOOOOODDDOODO

1. Owu(eVP)ODODODODO (Veo)ODOODODO

2. 0000 (u,w) (€ AP)OODDODOODOO
V(u,v) € AP t(u,v) # ¢)0 m|

(01) 0500000000 S0ROO0 Gg,O
oDoooooooooo T/ 0 T/={17=(V/,A]),
T/=(Vy/,AJ)} boooooooooooog TF
00T ={TF=(V{ AD) T =(Vf AD)} Do D00
oooovy = {PI2,R1}04{ = {(PI2,R1)}0
Vs = {PI4,R9, R10}0 A = {(PI4, R9),(R9, R10)}0
Vil = {R3,PO1}0AFY = {(R3,PO1}OVYS =



{R11, R12, PO2}0 AL = {(R11, R12), (R12, PO2)} O
000 0

00 [12100000000000000000000
0000000000000000000000[12]0
0000000000000000000000000
TF=(VvF AF)DODO0O00OD0DDO0O000000
1. 0000 w(evhooooo (Vp)0ooooo
2. Dou(evF)OOoDOoD (Vpe)OOOOOO
3. 0000 (uwo)(e AF)DOODOODOOOO

(V(u,v) € AF [ t(u,v) # ¢)0

000000000000000000000000
000000000000 0000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
00000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
000000000000

0000000000000000000000000
0000000000000000000000000
0000000000000000000000000
000000000000 0000000000000
0000000000200000000000000
0000000000000000000000000
0000000000000000
00 3((@O00000000) ROOO Gr =
(V,Aw,rt) 00000000 T; = (V;,4;,) 00000
00000000 T = (Vi,A4)DODD0OO0OT; 0000
00000000000000000000 D(T;) O
0000000000000000 A4,0000000
ar (1 <k <|4))00000D(T) = U at(ax)) O
0000000000 eVOOT; 000000000
000000000000000000ve D(T;) 00
O07;000000000000002000000 T30
T;=(V;,A)00000D(T;)NV; #¢0000T; 0
7;,000000000T7;<7,0000 O

(02 050000000000007Y0000 AfO
000000000+t 00000 RIODOODODOOOO
O00000O0a(ts)={R1}0000000000O0OO
00Gg,000000000000000007Y <75
0000000000 i

goooooobooobobooobbooooooo
gooooooooooboododgoooooo
gooooooobooooododgoooooo
goobooobboobbooboobboooboo
gooooooooo
004(00O0000): ROODODOD 20000
p = (u1,uz, ..., un,)0 ¢ = (vi,v2,...,v,,) 000000
udp,qUO000000DODOODODOODOOOOODOO
0p(@00 ¢O000 (uy, (000 v,,)000000
goool1ood.
Joooboooooooobooooooboboodd p
godqgUbobobooogooo
1. p0 0000000 (np =ng)0
2. pO000 ¢0O0000000000 (un, = vn,)0
3. p 00000 (uau) DDODODODOODODO
(t(u1,u2) # $)0
4, 00 p,q000000000000 (ug = v1)00
O00p00000 (w,ue) 000 v, OOOOODO
0000 (v1 € at(ur,u2)))d O

(03) 05000R0OOOOOOO020000 py =
(PI4,R9, R10, R11, R12)0 q; =(PI4, R6, R7, RS, R12)
00000000000000 pr, 00000500
000000000000 RI2000000000 py
00000 (PI4,RY) 0000000 3000000
00000000000000 PIA0O0O0OO0OO0
400, 00000000000 O

000000000000000000000000
000000000000000
00 5@000000000000) 00008
0000 ROOOD Gr = (V,Aw,rt) 00000
0Doooooooooooooo 177 = {17 =
V7, AN, i=1,2,.,n/}0000000000 T =
{TF = (VP AP),i=1,2,., 2P} 000000000
0S000000000000000000000000
T=1'vT" V=0V vE=ur v oooo
1. 0000000000 T/ 00000000000
( 0000D0DDO00000000 (@#£5=V/nN
v/ = ¢)0
(y 00DDOOOO0O000O0O00000 V0RO
00000000000000FYS*000000
(OOO0OFRVSV/(CV)ODOOOOV' CVAD
() 00000000000 00O00O0O000000
000000000 (Vo € at),V € Fr(v) =

*FVS: Feedback Vertex Set 1 0 000 0000000000000



h)O
2. DooDooooooTPooOoDOOOOOOOOO
(@ 0DDO0O0O0ODDODOO000 @#5=Vn
VI =)0
(y DOOOODODDOOOOODDD VAORD
00000000000000 FVSOOOOOO
(0O0DDOORVSV/ (CV)ODOODOOV CVL)O
3. 0000000 TOO00O000000000T =
(Vv,A)ooooooooooo
(@ DODODODO0OO00<00000000 <00
0000000 < 0000000000000
000Oooovr eT, T 4 700
() D000 TOOOOOODDOOO0000000
00000000000000000oooon
000000Ve € D(T),ve (V{f —V)uVp00
(o 0000 TOODOOOOODOOOT'00000
000000000000 D(T)ND(T) =¢00
4, 0000000 (@OD0O0(@OOO0O00000
00 p= (u1,u2,...;Un, ), ¢ = (V1,02,...,0,,) 00
000p0O000¢0OO0OO ()OG)OODDOOO0
0000000« 00000000000 ()4 (i)
000 p= (i, s, ....1,) 0000 p0000 ¢gO
ooo
() 00pl¢O0O0O0OOOOOOOOOOOD
ofoooo
(by 00 pO¢OOOOODO
(0 D0 pOO0OD0 u, (1 <ip<ny,)ODOOODO
00 (u,..,u,) 00000000000000
0000 (u,,u,+1) 100000000000
00000 pO0000D00O0O0D0OODOODOOO
0w, 000000000000000 w,00
0000 (ujy, - ur,)ip < jp < kp < np) 00
00000000000000w;, €V/0000
U, € V;DD
(d) 00¢O0000000000000000 v,
000000000000000 v, 00000
O (vj,s - vk,)(iqg < Jg < kg <mg) 00000
000000w;, €eV/0000w, € V00O
() OO 00000 p' = (e, Ukp1, .. Uy) 00
00000000 |p|00RODODOOOODODO
0 p" = (dy,..,1u,) 0000 |p/|000000DO0
ooono
(i) 00« 0000000000000000

000 10000000000000000000000 200
oooooo

T(?fk) = h0O0 O

(04 0D05000000040000000 85,00
5000 S20RO0O0 G, O00DO00DODO0OGR, O
000000 RL,R2,R30000000R10,R1100
00000000000000FRYSODOOO

D00 10Gg, 0000D00D0O0D0O0 10000 77,75
Dooooooooooooo vy = {PI2,R1}0
Vo) = {PI3,R9,R10}000000OFVSOODODODOO
0O {R1,R10}0000000000DOO

000 20Gg, 000D00O000ODO 10000 TF, 77
00000000 O0oooooO0 VP = {R3,PO1}O0
V¥ ={R11,R12,PO2}000000FYSOOOODOO
0 {R3,R11}0000000DO0D0DOO

00D 40Gg, 000000 30000000000
0000 py = (PI4,R9,R10,R11,R12)0¢q; = (PI4,
R6,R7,R8,R12) 0000000000 p1,q¢ OO0
0000000 p 000000 (PI4,RY)00D0OO
000 7/0000000000w,=R900000
(ui,,uip+1) = (R9,R10) 0000000000000
00000000 RY, R10,R11,R1200000R1200
0000000000000000000000000
000000000000 ;0000 p00O0O00O0O
000000 0000000 R6,R7T,RROO0ODODO
00000000000000 ¢00000000000

00000000000R/O00000O000000
0000 4 00000000000000 p=q O
D4y =R700000000 p' 0 (R7,R8,R12)0 0
0|p/|=300000R700 RI20000000000
/| =4>|¢,| 000 p” = (R7,R4,R8,R12) 0000
000000 4(a) 000000000 R6OOOOOO
0000000000000000000000000
00 p,q000000RSOOOOOOOOOOODO
0000000000000000000000000
000000 Gg, 0000000000000 400
O0000O0OO0R2, R4, R6,RROODOOOOOOOOO
00000000000000000C00000000
ooo 0

0000000000000000000 40000
0000000000000000000000000
Doooo0oooo
001 000000000000 SOROOOO Gg
=(V,Aw,rt)000000500400000000
000000000000 (OO0 000000
00000 V,0000000000000000 V, 0



0000 x,000000000

=n={(u,v)|u,v € Vi, (c1 Ac2) V (3 A cd)}

cl: «vwdO0oO0O0oooooooo

c2: vOO«.O00000000000

3 v 00 v0000 puw = (wuiti—1,...,v) O
0o0oooooooooooooooo pl, =
(i, ui1,..,v) 0000000000000000
ogooodooooooooi1booooon

cd: vO00wO0000000 pyu = (v,05,05-1, ..., )
0oo00oooooooUooUOooooog ), =
(vj,vj-1,.,u)0000000000000000
ogooooo

(CO) 00O x,000000o0Oo3ggooooooon

gooooooood

1. 000 Va € Vy,a=pa

2. 000 Va,be Vi, a3, bAb=pc=>a=pc

3. 0000 Va,be Vi,a=pbAb=pa=a=D

1.000
gddooboooouooobbooobooooboooo

gdoooodoooooooooboobood
2.000

a=<p, 00000100 4000000000003

cleyy, aO00D0O0O0O00O0O0ODOOO

2w OO «00000000DOOO

Bey a00 00000 poy = (a,ai,a;-1,...,0) O
0000D00000000000000 p, =
(ai,ai_1,..,b) 0000000000000000
JodooooOobOo0o000oo 10o0ooo0o0ag

deypy 00 «0000000 ppa = (b,b5,b5-1,...,a)
0o0oo0o0ooooooooooooooo p, =
(biybi—1,...,a) 0000000000 0OOOOOO
gooooo
0d00b=,cO0OO000 100 40000000

gooo

cly,e D00 cOOO0OOOODOOO

2, cOO0bVOO00O000OOOODODOO

3pe 00 0000 ppe = (b, by, bi_1,...,c) 00000
00000000000000 g, = (bi,bit, ..., c)
goddoddbddoddddooUdUoUuouoooa
ogoooooi1o0o00000a0

e cO0D0LO000000 pop = (¢,¢5,¢j-1,...,b)
000o0o0oooooooooooooogp, =
(ci,ci1,..,0)0000000000000000
ogooooo

008000000 e=pb00000000O00O 40
gdodbooooouoooboooo
clee a0 cOOOOOOOOOO
2., cO0e0000O0OO0OOODOO
Bae a 00 ¢cO0000 poe = (a,ai,a04;—-1,...,c) O
000000ooo0oooooooooo p, =
(ai,ai_1,..,c)0000000000000000
dooodooooooooi1o00000o0n
cdoe ¢cO00 0000000 pea = (¢,¢5,¢j-1,...,a)
0000000oO0o0oo0oooooooooo P, =
(ci,ci1,..,a) 0000000000000000
ogooooo
clypOcelpOd e300 000000a <5 bAbL =2 a
ogododdbdel 00000000 0OOOOOOO0O
O0cO0O 0000000000000, .,0000
O000e=xpcO000000000000000O0OO
goooobd cedd eO0U0O0OUooooobDOoO
O0c3c N4 DOOOODOOOOOO
a R bAb = c=>ax), c000000000O00O0
C3ace N ¢4, 00000 0OROOOOO e cOOO
gobdodoooodooooooooooooooo
gooooboboboboboooooooooooooooo
O000000a%,c000000¢34cANcde.0000
O0ce34cNcd,, 000000000000 =,bAb=Xy,
c= -3, .00 000000000000 0000nO
a=pbbAb =, 0000000300 c3p.000al
OsOb00 cOO00DOODODODOODODOOODOODOO
00doooooooooooooDb 1lo0oooooa
oo0-3, . 0000000e00 cOOOODOOOO
gddoobdobooooboooobooboooouooa
O00a=pbAb=pcO0000-c3,.,000000003
O000d00d00d0d0d0da=pbAb=Xpc=a=pcO000
ogoooooooo
3.0000
ab000000c2,000000000¢l,, 00
O000dooooooooonooon 2, 00000
O00d00O0Ocl,, 0000000000000 «O0DOOO
DDDDDDDDC4abDDDDDDDDDDDDDpgm
gddooudoboooboobuoooboooog
00000003y, 00000 noooonoobenn
bOOOODOODOOOOODdA4,, 0000000000
000, 00000000000000000000
O000000boo0oddedp e, 0oooooon
O0000000e#A00000000a =<, bAb=pa
0000000000000 O000a=,bbAb=,a=



a=b0000

000000000000 V00000 =x,000
000000000000000000000000 =4
0o0oooooo i

00 =,00000000000000000000
00000000000000000
(05 070000000S2000000000000
00000000 ROOOOO80DOOOODOOOO
oooooT’ ={17 = (V/,A]),T)= (V5 , Af), T{=
(VJ,A)H)yoooooooooooooooTh={1f=
(VE, AP TF= (VP APy oooooooooVv =
{PI1,R1}0 A{ = {(PI1,R1)}0Vy = {PI2,R10}0
AJ = {(PI2,R10)}0Vy = {PI3,R11}0A] =
{(PI3,R11)}0Vf = {R7, PO1}0AF = {(R7, PO1)}0O
Vi = {R12,PO2}0AY = {(R12,P0O2)} 0000
00500 40000000000000000
0000 (b)000 «, 0000000000 W, O
{R2,R6,R10} 0 00000000R20000 py =
(PI1,R1,R2,R3, R7)0¢= (PI1, R4, R5, R6, R7)0 R6
0000 ps = (PI3,R11,R12)0 ¢» = (PI3, R6, R12)0
R100000 ps = (PI1,R10,R9)0gs = (PI1, R8, R9)
0000000000000000

00 V,000000000000000000 R2
0ORODDDODOODOR200 R6OR6ODO R200
0000000000000 20000000000
0c30c400000000OR200 R600DODOODO
00000000000000000 RI0ODOODOO
O0OR600 R2O0000OOOODOOODODOOOOO
00000 RIDOOODOODD (R2,R6)0(R6, R2)
000000000 300000000000 000
O0R20 RIODOOOOO0OOOR200 RIOODDOO
OO0 RIOODRIOOO R2000000 RIODOOOOO
(R2,R10)0(R10,R2) 000000000000 OOO
O00000R6O RIOODODOOOOOREODO RIO
0000000000000000000000 R100
O0000(R6,R10)00000000c300OOO0O0O
OO0OORI000 R6O0DO0D0ODODOODOOOOOO
000000000000000 pu, = (R10, R9, R6)
000000000000000000 400000
00 (R10,R6)00D00000O00DOO

0000000008000 00O V00000 <y
00 <= {(R10,R6)} 0000

050RO00000000 V,={R2,R4, R6, R8}
0000000000000 O0O0000000RSO
0 RRORS OO R6OR6 00 RADR6 00 R20 R4

08 ROOO Gr,

00 RROR200 R6OOOOODDOOON (2)00
O0OR200 RSOR200 RAORAO O RSO RGO O
RAOR6 00 RSODODDOOOODOODO (c1)d =p=
{(R2, R8), (R2, R4), (R4, R8), (R6, R4), (R6, R8)} 0 O
00 O

33 J00OOOoOoopoooooooooooo

331 0000000000 O0O0O0DO

gbobobobooooobobobobobgan
gboboboboboobooooaooooboaoao
goooogd

006000000 (TEG): 0OOO0O SORO
00 Gg = (V,Aw,rt)0OOODSOOOODOOO
O0O0CLBBOOODOD ROODOOODOOOOOO
g = (Vp,Ap) 00000 O0O00OROODODOOOO gp
0000000000000000000000000
0000 00000000 Vi,V 0OOOROO
0GrO0000000000O00000 T ={T/ =
V7, AY)i=1,2,.,27} 00000000000 7TF =
{TF = (VF,AP),i=1,2,.,nF}0000000000
00000000 VY =u,v/0000000000
ooooooo vy =ux,vPooooooooooo
0000 Ga(S,B) = (Va,Aa,l,c)00000000OO
0000G4(S,B)0CLBBOOODODODOOODOO
00o0v,000000A4,00000!0000000
000000 V,400ROOOODOOOVODODOO
0000000000000 SO000000000OO0
0000000000000 0O0D V,000000 Z



RS

P9_>O\\56\
P2 R1L R2 O

o0 O 74 6.3
O_’CR)S\ \ o B gH RS - R12{ po2
PI2 \EBO \ R3 O_>O/ O»O\ _»O

\O\ P2 poy (P12

P4  Rg R7

.3./'0/ 0-0— o\‘g
P2 > @ >
O-’és/ pia DROIM R10 | RIL

11 -10 -9 8 -7 -6 5 -4 -3 -2 -1 0

09 S0000CLBCSOIOO00OOOOOO Ga(Ss,Ch)

010: S, 0000 CLBCS00000000000 C(Ga(Ss,C5))
000000000000 00000000000 (indeg(v1) = 0V o €
cl0000000 00 !0000000000000 pre(vy), Wtl('), lvr)) # ) V (outdeg(v) =

i€V, T € Va st u = 1(v)0 0V € suc(ve), Vo' [t(l(v2),l(v") £¢)) 00000

C200000000000000 000000000 booe»oooooo
000 V,00000000000 0000000 00000000000 00V,00000000
(v)0DO0000000000 «00000(31@) = v 0000000000 pre(v) DODDOO0O v
W' A € pre(v)) V(00OOOOOO0ODODOOO OO0 pre()HODDDDOOOOO v ODDOO
00 ((),l(v)) 000000000 «)00000 t(U(v"), l(v)) =t: #9000 DO0D0(ve) € ats) A
000000000+ 0000 [[(va) € Vi c(va) = c(v) Vi(va) € Vr,clva) =

C30O00000CLBOOOOOOOOOOD OO0 c(v)-1]00000 v, 000000
0000 Vo, 0000000 w0000 wopg C6000000000000 00 4,0000000

/! !/ —
000000000 0000000 V#0000 DD/(”’”)DDDDD”DDDDDD/DDDC(”)_
000w, 000000000 p = (uyeuy) O c()O00000000 ¢lv)y=c()—-10000

!
00000000 POOOOOOOOOOO0O0 DDODDDDOOD ¢(v) <c(v)DDDOOO
00000 p(e P)00D0O0D = (n..0,) C/00000000 00V,0000000000

(velt(u),v el Hu)OOODOODODOODOO Vo000 0D0c(w) =c(0)Al() =1(v) DDDD

10 LLDLLL Y COLLOLLOLD oo 00000+ 00+000000000000000
m ’

000000 (e!7'(«)0000000000 v =vbbbd

0000000000 o, 0 pre(w,)0000og — C8H0BDOODOOD OO0 A4 000000

D000 «,0000000 4,0 pre(v,) 000D r(l(vll))zr(l(f’2)):hDDDDDDDDDDDD
00oooooo (v1,v]))0 (ve,0v4) 00O O0O000 e(vy) < e(ve) O

!
CA0O0000000000ONOOD 00000000 0D De(vr) < ofv2)0 =
0000 (vi,v)000000000000000
v1,02000000 » 000000000000 000000000 000000000000000



00 7000000 (TEM): O0O00O0OOOO

00000000000 SOS0O ROOOO Gy =

(V,A,w,r,t)0S0000 CLBBOOOOOOOOOO

00 Ga(S,B) = (Va, A4, l,c) 00000000 SO0

00 CLBBOOOOOOOOOODO C(GA(S,B))00

00000000000000000000000

1. 0000000 G,00000ROOOOCLBOO
0D0000000000000 SO00000 CLB
ooooooo

2. 0000000 G,00000000000000
000000000000000

3. OCLBOOOOOO CLBOOOOOOOOOOO
00000000000000 O

(06 0400000 S20RODOOOOODO
00000000000 CLB ¢50000000
0000 Ga(S,,C5) 00 900000 90000
0000 Ga(S,,C5) 0000000000000
C(GA(S2,C5))00 1000000900000000
000 CLBC5000000000000000000
0000 -10000 R200000000 —7000
R100000000ODOD —6000 RAOOOOOO
C10000000000000000000000R
0000000000000000000 110000
000000000900000CLBCS000000
000000000011 0000000000000
0000000000000000000000-700
0 RAODOOOOO00-1000 RAODOO0O0OOO
00000000000000000000000 C3
ooooo O

332 JO00OOOOO0DOOOoOOoDoOoboOoOoooog

000000000000000000000000
0000000000000000000000000
000000000000

0000000000 SO0 ROOO Gr =
(V,Aw,r,t) 0000000000000 SO00
0 CLBBO gp=(Vp, Ag) 0000O0O0O0OROODO
0000 CLBBODOOOOOOOOONONOOOOOOO
00000000000 00000000 Vi, Vow O
000Grk000000p00000CLBBOOOODO
0000000 Ga(S,B) = (Va,Ax,l,c)0SO000
CLBBOOOOOOOOOO0OO C(Ga(S,B)0000
0000000000000000000 c¢(@)(v e Va)

00000 ¢nin0 0000 e 0000
0000000 C(Ga(S,B)0000O00OOODO
vO000O0O0O000000000000 SO000000
0000000 g, 000000
00 8(MOI000 k) 0ODO0O0DOO C(Ga(S,B))
0000000 I 00000000000 ve V40O
00 vale(v) 0000000000000 SOOO0OO
000 u(=1(v)) 0000 ¢(v) 00000 valg(u,c(v))
000000000000 up(r(uy)=h)00000u,
000D000000000000 vs(e I™Yuy)) 000
00 ¢, 0000 u, 00000 Ig(up,cp) 00000
Doooo

cn = c(vp,)
c(vn) < cn < ¢(vn,,.)); @)
Vh,,. € suc(vp)

suc

L
IH(Uh,Ch) = H

0000000000000000000000
t(I(v1),l(v2)) = ;00000 0000000000
00000we€a(t;) 0000000« 0000000
00000000 Ix(t,e) 0000000000

activate ¢t = c(vy)

et # c(vy) @

Ir(ti,c) = {

noactivate

O

000000000000000 Io,0000000
us 000000000000 SO0000000000
0000D0000SOCLBBOOODOOOODOOO
00000000000000CLBBOOOOORO
00000000 ¢e0000000000000000
0000000000000 00000000 Vi, Vou
00000000000000000000
002 00000000 C(Ga(S,B)0000000
00 I-,00000000 4, 00000000000
0SO00000000000000000000000
000000000000000000 IsOIxz0Ir0
0000000000 Is0Ixk0I;000000000
0 coue 0 CLBBODOOOOOD ue: 00000000
Is(Uout, Cour) 00 C(GA(S,B))0 Ic000D0DOOOO
00000 Cout = (Vo) 00D T0 00000 v,y OO
valc(vew:) 000000 p, 000000000000
0000 valg(ueut, c(v)) DO O OO

(OO)OO0ooooooooocLBoooooooo
ooooOoooockBOoOOOoOoOoDOoOoOoooOoo



RS

PO1
.
L

W
Q

R12

sayes
os0 - =/
PI2 \55
Fé.;:O PR
P4 R9 R7 O
PI4 O,/

orQ
35

-12 -11 -10 -9 -8 -7

Pl4

Pl4 © Ro ¥t R10 i
% K 4 i3 2 1 0

011: 50000 CLBCS00000000000 Ga(S2,Ch)000 2

oooooooclBOoOOOOOOOOOO CcLBOO
gooogod

000000000000 CLBOOOOOOOO
00000000 6000 C2O00000 weye 00O
(1(vin), l(vour)) € T, l(vin) € Vi 00000 v, 000
O (Vin, Voue) 000000000 p, 00000000 vy
00 vale(vin,) 0000 ¢(vi,) 000000 U(vsy) 000
0000 valg(uim,c(viy)) 000000000 6000
C700000 ¢(v,)0000 I(v;,) 000000100
00000000000 uy, 00000 vals(tin, c(vi))
O0u, 000000000000 (r(uim) # k) 000
006000 C6000 c(vow)—clvip,) 0000000
0 uw 000000000000uw,00000000
0000 (ru) =h) 00000000 00000
0000000000 ¢(vin) O Ig(wn,c(viy)) = L 0O
00 up, 00000 vals(l(vin), c(viy)) 0000 600
0C800000 clvo)—1 000000000000
000000 e¢(vy,) 00000 u, 000000000
00 (c(vout) — c(vn)) D000 1 00000000
oooo

000000000000 000CLBOOOOOO
00006000 C2000 00 ey OOCLB gp O
000000000000 000000000w;, 00
000 u, JOCLBBOODOOODOOOOODN u,O
00000000000 ¢(vy,) 000000 u;, 000
0000000 vals(uin,c(viy,)) 0000000000
000000000000 000000000 CLBO
000000 ¢(vy,) 00000 u,, 000000000
000 (c(vout) — c¢(vin)) 0000 CLBOODOODOODO
U 00000000000

obooooooooooboooooooboog Ie
OO0DO0O0O00CLBBUOOUOO we OOOOIoODO

10

010000000000000

ooo yooo | -11(-10|1-9|-8|-7|-6|-5
Is PI2 A B | X |X|G|X|X
PI3 X X|C|E|X|H|X

PI4 X X |DJ|F|X]IT|X

Iy R2 X L H|H|H|X|X
R6 X X|L|H|X|X[X

Ir t1 a X | X[ X[ X ]| XX
t3 X X | X]a|X|X[X

0000000 w,000000000000000 IsO
0000 Iy 000080000 CLBBOOOOOO
0 uw00000000000000000 O
(07) 09001000000 CLBC50000000
0000 Ga(S2,C5) = (Va,Aa,l,c)0 CLBC5000
000000000000 C(Ga(S,B)000000
00000000000000 S,00000000 IsO
0000000000000 Iz;0000000000
0,0000000100000000000000
0000000000000 -500000 PO1000O
000000000000000000000000

000000000000 SO0000000000
000 s000000000000000 Izy0000
00000000 ;000000000000000
emin0 0000 eme; 10000000 IsOIx017 0
0000000 Gu.(S) = (Va.,A,,,l,c)D00000
000000000000k 000000000
00900000 pu):
000000000000000000 S0S0OROO
00 Gr=(V,Aw,rt)00050040000000
0000000000000 (0000 «,000000
00000 Vv 0000S000000000000 IsO



oo0o0o00oooooobo0ooD Ig00bo0oobogo
0bo0o 000000000000000 ¢y 00
U0 emee UO0OO0OOO0OO0OOO0OOO0O0OO0O0O
gboooooboooo

0000 0000O00ODOO0O00oo SOoROODO GgrO
ooobooo Isboooboboooobobod
Ixy00000000000 Iy

0000 G, (S)=(Vu, A, l,)0000000 Ip

00000000000V, :=¢04,, =¢0l(v) =
undef000000c¢(v) :=undef0000000000O
good

goboabooaooaod

1. ROODODODODODOOD«OD0OO0Owe VOO0
000000 (000000000000 (b) O
goooo
@ Ig(u,e)=LO0O00O0 ¢(cmin <c¢< Cmaz)
00000vel Y wle(w)=cO00O00000
Oo0.000V, 00000
(B) cmin <c<cm,. 000000000000 ¢
00000vel Y wle()=cO00O00000
OD0o000V, 00000
V, OOOOO0O0O0 v el (u)OOOODupe €
pre(u) DO0000 Upre O v O 00 (uppe,u) O
(t(upre,w) # &) A (I (E(upre, u), c(v)) = active) O
goooooooooodddd wdOOOOO
00000 v, 0000000000000pre(u)
00000000000 upre OO ODOO0O vppe
googoooboooboooa
Upre €V, OO OD0 0D c(vpre) =c(v) 00000
Vpre D00 (Upre,v) 000 A, 00000 upye €
Ve Aupre € V3 OO OO0 O c(vpre) = ¢(v) —10
0000 vpre D00 (vpre,v) 000 A, 00000
Upre € V, 000000 c(vpre) < clv) 00000
OO0 Ig(upre,cn) =L 000000 ¢, 00000
000 vpre 000 (vpre,v) 000 A, 00000

00000000000RODOOODOOOOOO u(eV)
0000w eVpOUODOOOOOO ¢, 0000 wO
00000 vals(u,e,) O0v € I7Hu) OO0 c(v) = ¢y
O000 000 valc(v) DO00O0w € V;OO0OO
0000 ¢, 000000000000 valg(u,c,)O0
vel N u)O0 c¢(v)=¢, 0000 v000 vale(v) O
O00ueVpoOO0OO0O0ODO0O ¢, 00000 «000
0000 vals(u,c,) 00v el Y (u) OO ¢(v) =c¢, 00
000000 vale(v) 0000 O

11

goopoboood e ooobbooooobobbooa
003 [DO0OO0O0OoopDoOoooo soooog Isd
g0 0000000000000 000DODOO wOO
0000000000 wals(u,c)00000000O0
oooopooOo SO ROODO GgO SOOOOODOO
U ls0ig0l-000000000O000DO OO
0000000000 G, (S)00000ogn Ie O
0000000000 OG,.(S)0 Ic 000000
O00C(G,.(S)0000 ¢lw) =¢l(v)=w00000
00000000 Oc(v)000D0O0O000OOSO CLB
BOOUOOOOO w00 wals(u,c)DOODOOODOOO
C(G,.($))0 CLBBODDOOO v00 Oc(v) 00D
goooooooboooo

valg(u,c) = O¢(v)

(CO0)OooOooo G, (S)0Doooooooooooo
C(G,.(S)0000CLBOOODONON0DO00DOO
000o00oo0o0ooooooooOoOooooon CcLB
goodboobooboobooboboboboo

00 cO00000tHupre, Yout) = tu, (Upre, Uout) € Aa
gooooooo ¢, oboooboo
(It (t(upre, Uout),¢) = activate) 00000 v
ooooooooooogog we oo 2000
I (t(tpre, Uout ), C) activate 0 0 000004
Vpre € " upre) 00000 wvye 00000 Vy,
O000pe D00 (Upresvow) D000 A, D000
00000 uype 000w, O0O00OO0O0O0O0O0 ¢
O0000 uee 00000000 wals(uout,c) O
Uodaooood cpre U upre ddd 00000
vals(Upre, Cpre)0 Cpre = ¢ — (c(Vout) — c(Vpre)) OO
00000 vals(upre,cpre) 0000000 p. 0000
c(Vpre) = Cpre 0000 vpre 000 walc(vpre) 0000
goboobou p. OO0 10O00D0O0O0OODOODOO
0000000000 10000000 c(vpre) = Cpre
oo0o0oooooo0ol100000000w, 0000
00000000 (r(upre) =h) 00000000 g0
00 200010") =1l(vpre)Dc(v”) ="'0c <’ <c
O000ooOooOow e va, 000000000000
Upre € pre(uw) 0000 Ovye € pre(v) 00000000
00 ¢00000t(upre, 1) = ty, (tpre,u) € A4 00D
00000+ 0000000000 (Ip(H(upre, w),c) =
normalvalue)0 00 00 O t(upre, u) = @, (Upre,u) €
A, 0000000000000 0O0O0O00 vO0OO
ggooooo



00000 pus000 2000wy € pre(u) 000
00 upre O w000 (upre,u) 00000000000
Vpre (€ U7 (Upre)) 00 (Vpre,v) 00000000 vpye
0000000000000 D0ODOup.e € pre(u) O
0000w, €pre(v) DODOOOODO

000000000000 . 0000000000
0000 [c,00000000 C(G,.(S))00000o
00000000000 Oc(v) 000000 IsOIx0
I[r00w000000CLBBOODOOODDOOO
0000000 00000000 v00 vale(v) O
oooo O

000000000000000000000000
0000000000000 D0DD0DDDDDDODODO
00000000000000000D00000O CLB
0000D00O0D0D0000000O0CLBOOOOOO
00000000000000CLBOOODDOOOOO
00D0000000DOooO00
00 10@0000000000000): 0000o0oo
0000000 SO0SOCLBBOOODOOODOOOO
00 Ga(S,B) = (Va,Aa,w,t,l,c)0G4(S,B) 000
000000000 C(Ga(S,B)000DDOO SO0
0000000 FOOOO0O0O0O0O0 C(Ga(S,B))00O
0000000 F,000000 SOCLBBOOOO
feFO00D0ODOOOODDOD fO00DDODOOOODO
0 fa€e F,000000 f4,00000D0000D0DO
0000000 CLBBOOODOOCLBOOOODOO
0000000000000 BOOOOOCLBOOO
100000 f400000000000000000
0oooo0oo O

gbooboboobooooobooboboooonboon
googo
001: D0O0O0O0OO00OO0ODODOOO SOROOOO Ggr
=V, Awnrt)0GROOOO CLBBOOOOOOODO
0000 Ga(S,B) = (Va,Aa,w,t,l,c)0GA(S,B)00
0000000000 C(Ga(s,B)yooooono SO
00000000 FOC(Ga(S,B))000ooooooo
F,000000S0000CLBBOOOOOCLBOO
00 fOC(Ga(S,B))0D0UO0CLBBOOOOO CLB
oooo f,000000 f400000000000
000 Ga(S,B) 00000000000 C(Ga(S,B))
000doooooooogoooooogoooo so
00000 fO00Doo0OoO0DoOOO

(ODO) D0O0O0oDOOOOO0OU0O0O0OO fOOODOO
0osoOsS, 000000 f,L00000000000

12

O C(Ga(S,B)) O Cr,(Ga(S,B)) 00000000
000 Cr,(Ga(S,B) 00000002000 C20
00000 v, O00O0OODODODOO0O0O0O0O00O00O00
0000 f,00000000000000000 tpy,
000000000CGA(SB)OC(Ga(S,B))
0O tpy, 00O0O0O0O0O0O0O0DDODODODDODO
O(C(Gal(S,B)), tpy,)DO(Cy, (Ga(S, B)), tpy,) D00
0 00(C(Ga(S. B)),tpy,) # O(Cr,(Ga(S,B)).tpy,)
0oooooOo f, 000D 00000 CLB BO
0000 ClBOOOODOOOOOOOOOOOO
Cr,(Ga(S,B)) 0DODODO S, 00000000
C(Ga(S¢,B)0D0D0OD0ODDOO0DDOOOOODO us
0000 tp;, 00000000000 DOO0ODOODOO
00000000 TP, 00000000 S0S;0 TP
000000000000 0000S(TP)0Ss(TPy)
00000020000000000 C(Ga(S,B)) 0
000 CLBB, 000000000 DDOO SO CLB
B,00000000000D00DODOD 6000 C3
000C(Ga(S,B)) 0000 BOOOOOODDOOO
000000000D00000000¢t;, 00000
000 CLBBOODOODDOOOOOOOODODOOO
00D0000O0TP 00000000 SO CLBBO
0000000000000 D0O0OD0ODOD0DO0O0O00
OD0S(TPy) # Sy(TP;) 00000000 OODDOO
00 C(Ga(S,B) 000000 f400000000
00000000000 fO00000000O0 SO0O0O
00O00o000oooooog

00000000000 O0ODDODD SOO0O fO00
00000000000000000 IsOoO0ooooo
00000000 Izy000000000000 Ip0f
000 SO000000 S;,000000 8,000 IO
Iy0I; 00000000000 p. 000000000
0000000 G, (S) 00000000 tps, 000 f
0000000000000000000 f,0000

0000 I[s000 fO0000000000O0O000O0
00000 CLBBOODOOOOOO00000 ey O
0000 ¢ 000000000000D0000000
0000000w, 0000000000000000
0c, 000004 000000000000¢(v,) =
coyl(v,) =u, 00000000000000000O0
00 Vv, 000000000 G, (S;)0000000
000 Gy (Sp,B)00O0OO

00000 G (S;,B) 000 vow(€ 1™ (uou)) O
000l(vy) =uy € VyO0OOOO v, 000 ¢;0
0 vals(vour,cy) 0000000 0uy; € VF¥OODDO



O0uw, 0006000 C4A0000ODOOCOOODOO
gbbogobooobboobboobobooobobo
ggobbooobbooobooobbooboboobo
00 Owals(us,cy) 0000000000 Range(uy)O
vale(vy)) 0000000000 Range(vy)) 00000
Range(uy) C Range(vy;)00000000(vp) =up €
VEDDDDD vp 000 ¢p 00 valg(vp,cp) 000
DDDDDDUPGVEDDDDDDMJDDD 600
0c4dpDopooooooobooooooooooonod
gbbooobobooboboooobbooobbog
00000000000 Owals(up,cp) DO0OOOO
0000 Range(up)Dwvalc(vp) 0000000000
Range(vp) 0000 0ORange(up) C Range(vp) 1000
00000GE (Sy, B) 0000000 veut(€ I (Uout))
00000, =v, eV 00000 v,00000
00000000I(vy) =uy; e V700000 v, 00
00000D000000vp) =up € VEOODODO
vpUODODOODOODODODODOODOOO VJZDDDDDD
000 G, (S) 0000000000 GP(S;,B)00
gdddduoooooobooobn GﬁC(Sf,B)I:JI:J[I
0000000000 C(GR,(Sy,B))00000000
tp;, 00000000000000000GE (Sy,B)
0000000000000 C(GP.(S4,B)00000
Udo;,000000000000000OODOOOO
goobobypddobbbbbboooooobbo
gboobooooboboboobooboboboooon
0000 C(GF(S;,B) 00000000

ggno GZ’C(Sf,B)DDDDDDD pceO0O01000
dde0d0dD00OO0OOOODOOO ciaocracsnod
ooboooc3ooOooooonoi10000000 Vv,
0000 vou 00 l(vp) = up € VEODOOOD vp
00000 c30dounoo po0bODOOoOOODOO
200000 cc20cénoopoponoopooooonodg
DC4DC5DDDDDDG:fC(Sf,B)DDDDDDDDD
VéﬁDDDDDVéQDDDDDDDDDDv1,1)2|]|][|[|
t(l(v1),l(12)) =¢00000000000000000
000 GP(S;,B) 000000000 G(S;,B)0OO
D000000000000GE(Sy,B) = G2(Sy, B)
gooad

o0 00y 000 fO00D00OO0CDOOOODOO
0000y 000000 TP, 0000050 TPy0O
00000000000 S(TP)0 S;0 TP;000D0
00000000 Sy(TP;)0000 S(TPy) # Sy (TPy)
0oooog fo000 fA00000CLBBOOODO
oclBOOOOOOOOp. 000000 S,00000

13

000 C(GR(Sy,B)0000 0000000000
Cy (GX(5,B)0000O000O 30000000
00000000000000000 . 0000000
00000000000 0000D0000DO00DDO
0000000000000000DO0O0O06000O C3
000S0O000CLBBOOODOODDOOOOOOD
000000000 Cp(GY(S,B))000000000
TP,000000D0O0SOCLBBOOOOODOOO
0000000000000O0¢s, 00000000
CLBBOOOODDOODODOODOODOODOOOODOD
000000(Cy, (G5(S,B))) # O(C(GY%(S,B))) 00
00000000D0000000D0 Is0Ixz0I;000
000000000000000000 Cp, (G%(S,B))
00Do0o0o000o00ooo O
0010000000 SO0CLBBOOOOOOODO
0000000OD0O0O0O0OD0OD0O0DODOO0O0Sooooo
OCLBBOOOOODOOODODOOOOOOOOSOO
0000000000000000000000000
0000000000D00000000

34 JO0DOOO0OOOOOOOODOOODODOO

ddooooooooooboooboobooooooo
002: 0O0O00OOOO0OOOOODODOOOOOOO
0000000000 12000000 oooooo

(00) D000DO0000O0D00000O00DO00On
oDoDoooooooooTFoooooOOooOoOT
0000000000000 D000D00000000n
gooOoOoDOoOooDoooDoooooooo Tr/or?
opooooTrf=7/=TfOOO0O0OOOODOOOO
000000000000 000D000D0000000
ooT’=T7’00000000000000D0DOO0
0D000000D000D0O00
O
00000000000 00000DO0OD0O00DO0n
00000000000 00000D000000000
000000000 D0DD0OD0ODOD0ODD0ODOD0O0O0OO
000000000000 0000D0000O0000O
00000000000 0000000000000O0
00000000000 00000D00000D0000
000000000 000000000D000000O
00000000000 0000000O000D000O0
0000000000000 00D000000000O
0000000000000 D00000000000O
0D0O000OO00oDoon
0000000000 000D0D0O0000 30000



0oooo0o00ooooooooon0 ko000 (k-
consistency) 10 00 [12]00000000000000O
00000000000000000 72-bounded O O
000000000000 k-000000000000
0000000000000 000072%-bounded OO
00000000000 00000DO00D000000
OO00oOoooooo0o0o0 (acyclically testable sequential
circuits) OO QOOOoOd

35 000O0OO00oOoOoOooooooooooog

obobooobooooboooboobbooooooon
oooooooooooooooooooo soooo
CLBOOOO BsOSOOOOOO FOOOOQOOOO
0O BsOOOOODOOOOOCLBBOOODOOOODO
00 FOBOOOOOOOODOOOOODODOOO
ooooooOooooOoooooooboceceBBOODO
gboboobooboooooooobooooboooDon
oooobooooooOoooooooboooo clBBO
oboo00 FpeFOOOOODOOOOODOOO FpO
ooboooooooooobooooboooboooooo
gboboobooooooobooobooooboooonon
gbobooboboooboobooboobooooboooonon
oboooboooboobooobooooboon FepOO0DO
ooboooooooooboooooobooooOo FO
OO00O000000OF#¢000000000O00CDODOO
oooobooboboooooboooooboboooono

36 00ODOOO0ODOOOOOOOOO

00000000000000000 SO000 CLB
BOOOOODOOOOOOOOOOOODOOOOOOO
D000D000000 60000 CLBBOODOOOO
0000000000000000000000000
0000000000000000000000000
D00000000000000 SO ROOODOO
0000000 k. 000000000000000

000000000000000000 SOROOO
0Gr=(V,A,w,rt)000000000000000
O0000OCLBBOOODOOOOOOOO Ga(S,B) =
(Va,Ax,l,)000000000000000000
oooo T = {1/ = (V/, A, i = 1,2,..,n7}0
0000000000 77 = {17 = (Vf,AD),j =
1,2,..,nP}00050040000000000000
0000000 (b)000 400000000000 V0
000000000 SO0000 CLBBO gg = (V,Ag)
0000000000000000000000 V,,0
Vv, 00000V, :=¢0V,:=¢000000000

0000 eniny OOO0O0D0Ip000 V,,,Ve00RDO
oooobDOoovooodOegO0OW,,V.0000
00 Z0O0O0ODO0OOOO0OO0O fO000 W,,,V.000
oO00O0OD1000000D0OO000O0OOOO0OOn
godooboobooooouoobooooboooo
gddboodouoooouobobooooa
1. ROOODODODOODOCLBggOOOOOODOOODO
goddoooboobooouooboooog
ooodooo pODOOO
2. 00 POODODODOODOOOGOOODODOOOOO
OO0OPO0OO0 10000 p= (u1,us, ..., un)
godbooboobbpdbbooogd w, 000
u, 0000000000000 Ow, DO0O000O000
gooobooobooot w, 00ooooooo
P = (Up, ey u) OO0 O Ol (vy) = tm, ca(vm) =0
ooooowey, 000 Vv, 0oooad
3. 00V, 0OOOOO0Oo 00000 (w) =u,O
000000 (000000 400000000
00000 (GyoDDoooOo 30000
@ f(vp):=10000
() upre € pre(lp(v)) Aupre € VA OOOOD uppe O
0000 Hupre,Ip(v)) =4, 00000000 ¢,
000 epg(v) D000O0 Ir(ty,cs(v)) := active
00005 (vpre) = Upre, cB(Vpre) = cp(v)—10
ooogv,0ooVv,000oooo»0v.Oo
000000 ¢min :=cB(vpre) D000
4. V,=¢0000O00O0OOS0000000000
00V, 00000000000 »00000ls((v) e
ViVf(v)#£100000 (0000000000
OMOOo000vwDO V,00ODOO0OOoO0o
@ upre € pre(ip(v)) A upre € VT] oooon
Upre D000 D tpre € V; 0000 15(vpre) =
Upre, CB(Vpre) == cp(v)—100000 v, 000
Ve OO OO0O Ir(t(upre, ca(v)), cg(v)) == active
0000u, € aupre,v) 00000 u, 00O
O0upe € Vi OOO0IB(0a) = Ua,cp(va) =
CB(UPTE)DDDDD ve OO V. OOOooQoad
¢B(Vpre) < Cmin 000000 cmin = cB(Vpre)
agood
(0) upre € pre(lp(v)) 00000000 upe OO
000 upre € Vo 0000000 (tpre, 1p(v)) O
dosd0d400000000000000004
O00000!I5(vpre) = Upre, cB(Upre) = cp(v) — 1
oo0oodd e, 000V, 000000000
[l[l[ll]upre¢V1|:J|:JD vpre 1 V., OOOOO



cB(Upre) < Cmin 000000 Cmin = cB(Vpre)
O000f(v)=10000000 (uppe,lp(v)) O
00 p00000000 f(vpre):=100000
00000 f(upe) :=00000
5 V,=00000000 20000000000
oooooo Vv, 0o0oboooo o, 0biboon
0=<,0000000000Iw,) 0000000
O00bDlpO0O00DOOOOO0ODOOOODDOO
O000cp 000000000000, 0000
gogv.oboboob 4000b0000DbObDOO
Ig(Ip(vh), emin — 1) = LO Cimin — 1 < ¢; < cp(vp)
0000000 ¢ 00000Ix(p(va),c;) = HO
O00Oc¢p(vr) := ¢min — 1, ¢min := cp(vp) DO Ouy
goov.ooood
0040000
000o0o00oO Iy, [y 0000000000 p.0O
gboboobboobbouobbuouobbooon
Guo(8) = (Vie, Ay, 1,e) 0000
gbooboboobooooobooboboboba
ggbbooboooboooboooboooboo
00000 Ga(S,B) = (Va,Aa,l,c)0000
(08 U0O50000RO00 G, O0O0OOOCLBCS
gobobooobooboobobooboooo
Oo01l0o00cClBosooooooooooooo
0O r4ADODDODOOOCOOOOOOOOOOOOOOOO
p1 = (R4,R8,R12),p2 = (R4,PO1)000000OP =
{p1,p2} 0000
00200000 pO0ODODOOOO POOODODOZLO
gboboobboooopy0boooobbooboboon
O0ooppoodd w, =R1200000000000000O
ooo0d w, =PO200000000 p' = (R12,P0O2)
0000lp(po2g) = PO2,cp(po2o) =000000 po2y
ooov.ooooo
00 30001p(po2y) =PO2#4 R120000000
0 ()O00000000 (b)0OORI2 € pre(lp(po2o)) A
R12 € VX OOOODODOHRI2,Ip(po2)) = t6 00
000 Ip(t6,cp(po2o)) = active 000 Olp(rl2y) =
R12,¢p(r120) = cp(po20)—100000 r12,000 V,
O000po200 V. 0000000 min = cp(rl2y) :=
—1000003000000!15(r12¢) = R12=u, O
0000000 (@UO0oOof(ri2g)=1000000
(@UD00000000D0 40000
004000V, #¢000015(r12) ¢V 0000
0000 ()00000000 (b) 000 pre(ls(ri2y))
0oodddg Rg,R1100000000O00O RSO

15

O0OO0OO0ORS €V, 0000ODOOO (R,RI2) 00O
30d00do0oooDO0ooDoooDOooDbDOoobOooDod
Ig(r80) = R8,cp(r8y) = cp(rl2y) — 10000000
0 Vi, 00000 min = —1 > cp(r8) = 2000
O00c¢m, :=-2000000000f(r12) =10
O0O0(RS,R12) 000 p, 00000000 f(r129) :=
1000000 RI1IOOOUODORII ¢V, OODOODODO
I5(rlle) = R11,cp(rllg) = cp(rl2e) — 100000
rllo 000 V., 0000000000 (R11,RI2)000
p 000000000 f(rlly):=0000071200 V,
googogo

004000V, #¢000015(rlle) ¢V 0000
0000 ()00000000 (b)000pre(ls(rilp))
0000000 R6,RIOOOOCODOODOOO R6O
O0OOO0OR6 € V,, 00D0O0ODO (R6,R11)0O0OO 5
00 40000000000000000Ig(r6e)
R6,cp(r6y) = cp(rlly) — 100000000 V, O
O000c¢nwn = =2 > ¢cp(rby) = 3000000
cmin '=—-3000000 RIODODOOORIOEV, O
00000lB(r10g) = R10,¢cp(r10p) = cp(rlly) —10
gooooogv,.obgoborlilpg V., ooooooo
00 4000V, # ¢ 000015(r10,) € V{ O
0000000 r100 0000000 (Q015(r60) ¢
v/ 00000000 6 0000000 (b) O
0000000 (@ OO00RY € pre(ip(rl0y)) V
RO € V/ ODODODO RYOODODODOIE(Y)
R9,cp(r9) = cp(rl0y) — 100000 990 V. O
0000 Ir(t(B(r%),l5(r100)), cp(rl0y)) = active O
000000 cmin = =3 > cp(r9%) = —40000
OOcmin :=—400007r1000 V., O0OOGQOGQOQoOO
0 (b) 000 pre(ip(r6y)) 0000000 RS, PI3, PI4
O0000O0O0OO0ORS € vV, 000O000OIB(r5%)
R5,cp(r5e) = cp(r6o) — 100000 r5 000
oopoogPrPI3e VL, PI4cV;OUOOOOOr6g 0
Oo0ooooooo (yoooood
004000V, #¢00000p(r9%) € V000000
00 r9 0000000 (a)0000001s(r50) €V
00000000 r-5, 0000000 (MUDOOooon
0 (@ 000 PI4 € pre(lp(r9%)) vV PI4 € V000D
O PIAD0OOO0O Ir(t(p(pid1),l5(r%)), c(pid1)) ==
active 0000000 ¢pin = =3 > ¢p(r9) =-500
O00Ucmin :=-50000790 V., OOOOOOOO
0 ()00 O0pre(lp(rs) 0000000 PI20000
oogoboprP2eV;000000O0r00 V., OO00ODOODOO
00 (yOO0OO0O0OoOo

Ve
Ve



004000V, =¢0000000050000W,,0
0000000 r800000075((r8), cmin—1) =
LOOO-5(= ¢min — 1) < ¢; < =2(=¢p(r8y)) O O
00000 ¢ 0000 Ig(p(rse),e) = HOOOO
cB(r80) = Cmin — 1, Cmin = cg(r8) DO OO0 78y U
V. 00007800 Vo, 00 O0O0O0OOD0O 40000

0do0d0dbooopoooooooooenroOOO
00000 120000000000000000R0O

004000V, #¢00000s(r8) ¢ V/ 000000
00 (b)0O00OD000 (b)OO00pre(lp(r8y)) 000
0000 R4, R7TO000000O00OR4 €V, 00000 DOO
0 (R4,R8)0000S5004000000000000
000000lp(rde) = R4,cp(rde) = cp(r8p)—1000
00 rde 000 Vi, 00000 ¢min = =5 > cp(rdo) =
—-6000000c¢m, :=—-60000R7T¢ V, 000
O000lg(r7y) = R7,¢p(r7g) =cp(r8) —100000
r7od00 V., oooodrge V., oooooono

004000V, #¢00001s(r7) ¢V, 0000
0000 ()ODO0DO0D000 (b)0O00pre(lp(rio)) O
000000 R5,R6,ROOOOOODOOORS ¢V, 00
0000lp(r51) = Rb,ep(rb1) =cp(r7p)—10000
05,000 V,00000min =—5> cp(rby) = —7
O0000O0c¢mn:=—-70000R6€V,00000
000 (R6,R7)0D0O0DOS004000000000C0
O0000000lg(r61) = R6,¢p(r61) = cp(r7o) —1
ooooodr6, 000V, 000O0O0ORYE V,, 000
0001(r9) = R9,cp(r91) = cp(rTo)— 100000
r9, 000 V., OOOOOr7,0 V., 0000000

004000V, #¢00000505) ¢V, 0000
000 (MOO0O000IE(r9) e VAV F(r9)£100
000000 (pUO0ODo0oooo«5 0000000
(b) D0 Opre(lp(r5,)) 0000000 PI200000
obo0goPI2e VOOODOOOr 0V, 0000000
00 (00000000 »9, 0000000 (@000
PI4 € pre(lp(r91)) vV PI4 € V/ OOO0O0O PI4A0O
000 Ir(t(ip(pide), lp(r91)), cB(pidse)) = active O O
obr9, 0V, 0000000

004000V, =9o0000000050000VV,,
0000000 rde, 6, 0000 015(r61) =u Ip(rde)
00000076, 0000007g(15(r61), cmin—1) ==L
000-8(= emin—1) < ¢ < —7(=¢p(r6;)) 00000
000000 Ig(lp(r61),c;) :=LO000cp(r61) =
Cmin— 1, Cmin = cp(r6;) 0000 r6, 0 V. OO OOr6,
0V, 000000000400000

004000V, #¢00001s(r6,) ¢V 0000

16

0000 r6, 000000 (b)00000D0O0 (b)O
OOpre(lp(r6,)) 0000000 R5, PI3,PI40 000
O0O0OR5 ¢V, 000000IR(r5) = RS, cp(rds) =
cp(r6,) —100000 r5, 000 V., 00000000
Cmin = —8>¢p(rd2) = —-90000 00 ¢min :=—90
O0O0OPI3€V,PI4cV;00000076,0 V, 00O
0000000 (yoooooo

004000V, #¢0000Ip(rse) ¢V 0000
00005, 0000000 (000000

00 (b)000pre(lp(rde) 0000000 PI200
O00000PI2€V;, 000000750V, 0000
O00O0O0 (b)Oooood

004000V, =¢0000000050000V,, O
0000000 r4o00000075(15(r40), Cmin—1) =
LOOO=-10(= ¢min — 1) < ¢; < —=6(= cp(rdp)) OO
00000 0000 Iy(ip(rde),¢) == HOODO
cB(rdo) = Cmin — 1, Cmin = cg(rdo) D0 000 740 O
V.0000r400 V4, 000000000 40000

O0000000000000000 6070000
00000 1300000000000000000

004000V, #¢0000Ig(rde) ¢V 0000
0000 r4o 000000 (b)0J000O0000 (b)O
O0pre(lp(rd)) D00DO000 RL,R7TOOOOODO
O0R2¢V, 00000000 (R2,R4) 000050
040000000000000000000I5(r20)
R2,¢p(1r20) = cp(rdg) —1 00000 72,000 Vi,
00000000 ¢min = —10 > ¢p(r2)) = —1100
O000¢min := —110000R7 ¢ V, 000000
Ip(r71) = R7,cp(r71) =cp(rdg)—100000 71 O
00 V.,00000r400 VvV, 0000000

004000V, #¢0000ip(r7,) ¢V/000000
00 (b)0000O000 (b)y000pre(lp(rry)) 000
0000 R5,R6,ROO0000000R ¢V, 000
O0001p(rss) = R5,cp(rd3) = cp(r7y) —1 00000
r53 000 V. OOOODO ¢pin = —11 > ep(rdz) = —12
O00000¢pmn:=—120000R6€V, 00000
000 (R6,R7)000050040000000000
00000000IR(rée) = R6,cp(rée) =cp(r7y) —1
00000 r6, 000 V,, DOOO0OORYI ¢V, 000
000lg(r9) = R9,cp(r92) =cp(r71)—100000
r9 000 V,00000r7;,0V, 0000000

004000V, #¢0000Ip(rs3) ¢V 0000
000 (b)000000Ip((r%) € VIV f(r9) #100
000000 (@UO0000000 r53 0000000
(b) D00 pre(lp(rs3)) 0000000 PI200000



PO2

©~0>

t4
Pi4 R9
-4

@

R10
-3

-d

R11

-2 -1

012080001

R5
R6

PI2

-10 -9 -8 -7

-6

PI2 %F/so\
R R7 R R1 [3
T e 523
R5
O /

.>.——>.*O/

P4 R9 R10} R11

-5 -4 -3 -2 -1

013:080002

O0OPI2e V;OOODOOOrs OV, 0000000
00 () 00000000 9, 0000000 (@000
PI4 € pre(ip(r92)) vV PI4 € V/ OOOO0O PI4A00O
000 It(t(ip(pids), lp(r92)), cp(pids)) := active O O
Ob0r90 V. OOOOOOO

004000V, =o0000000050000V,,
0000000 12,760 0000015(r2) 0 lp(r6s) O
uoodb x,000b0b0o0ooog 2000
00 Ig(lB(r20),cmin — 1) == L OO0 -13(= Cmin —
1)< < —11(=cp(r2)) 0000000 ¢, 0000
Ig(lp(r20),¢;) := LOO0OOcp(r20) = cmin—1, Cmin =
ep(r20) 0000 r200 V, 0000720 Vj,, 0000
gooboo 40000

004000V, #£¢000005(02) ¢V 0000
00002, 000000 (0)OOOD0DO00O0 ())000
pre(lp(r2)) 0000000 RIODOODOODOOORL ¢
V, 0O00000lp(rly) = Rl,cp(rly) = cp(r2e)—10
0000 r1, 000V, 00000000 ¢min =—-13>
cp(rly) =—-14000000¢pmn :=-14000071,
gv.ooooogg

004000V, #¢000015(rle) € VEV £(rly) #
100000000 r1, 0000000 ()DD00OD0O000
0 (@O000PI2 € pre(lp(rly))vVPI2€ V/ODOOOO
rPr200000Ir(t(PI12,ip(rly)),ce(rly)) := active
obooO0Orig0 V. OOOoOoOoOOO

004000V, =o0000000050000V,,0

17

0000000 16, 00000075 (L(r6s), cmin—1) :
LO0O0O-15(= cmin — 1) < ¢; < —12(= ¢p(r62)) O
000000 0000 Ig(lp(r6s),c) = HOOOO
cB(r62) = Cmin — 1, Cmin = cp(r6e) D0 000 762 O
V.0oOOdr6,0 V., 0OOOOOOODOO 40000
004000V, #¢00001p(r6:) ¢V 0000
0000 r6, 0000000 ())00000000 (b)O
OOpre(lp(r6,)) 0000000 R5,PI3, PIA0D DO
O0O00RS5 ¢V, 000000I5(r5) = R5, ca(rbs) =
cp(rby) —100000 r5, 000 V., 000OOOOOO
Cmin = —15 > cp(r5y) = —16 00 0 00 Oemin = —16
O0o0O0PI3BeV,PI4AcV; 0000007650 V. 0O
oooooooo(Goooooo

004000V, #£¢00001(r5) ¢V 0000
000050000000 (b)00000000 (b)0
O0pre(lp(r5,)) 0000000 PI200000000
PI2eVv;00000000 (b)000000

ooooooo 20000000 ppOOODOOO
0200000 2000000000060 7000DO0
0000000014 000000000000 po0O0O
goooboooboooboobooboobaon b

gobbooobobbooobobbooobobooon
gbooooobooboo

003: 000000000000000000S500
00SOROOOO Ggr=(V,Aw,rt)0000000



020000000000000

ooo aoo -6 | -15|-14|-13 |-12 |-11|-10 -9 |-8 |-7 |6 |54 |-3|-2|-1]0
Iy R4 X L H H H X L HIHIH|H|X|X|X|X]|X|X
R6 X L H H H X X[ X|L|H|X|X|X]|L|X|X|X
R8 X X L H X X X | X[ X | X[ X|L|X[X|X|X]|X
Ir tl X X a X X X X | XX | X[ X[ X| X[ X]|X|X]|X
t3 X X X X a X X | X[ X]Ja | X[ X]a|[|X|X|X]|X
td X X X a X X X [ X[ X[ X[ X | X|X]a]|X]|X]|X
RS P2 RL| Re
O~ >0 -0 R
P2 \56 OO RS R12{ po2
O30+— | 7 RS O OO0
'35/ W}d O+ R6 /4 O’O\\
ere/ ?O_\ e O3
Pl4 PI3 pla R9 RE{ Pl
O_bg/ PI4 G ._7 Qf/ \(!
RS
PI2 O_’O/ ..1.3.—?.—.
P12 Pl4 - R9 R10 | RI1
-16 -15 -14 -13 12 a1 a0 9 8 7 6 | s -4 -3 2 ia

014:000000000000000000 S, 0000CLBCS000000000O00 Ga(S2,C5)

tl
c2
P12 —»"T1 cs
PIZ—]
cé Pz cg —L'
P02
pIz—>] > > > t6
C pgs] o c8 PIZ™ c6 > . > C9 c1o >
pla—>t 5:3—> c7 Cl11
e [ o
t3 PI
ﬂd t3 plg—>1
t3 > —P—>| Cc14
P4 %d C13

015: 8, 0000 CLBC500000000000 C(Ga(S2,C5))

noooo T = {1/ = (V/,A}),i = 1,2,..
0000000000 77 = {77 = (VF,AD),j
1,2,..,nP}00050040000000000000

0000000 ()OO0« 00000000000 V,0

000000000 SO0000CLBBO g = (Vs, Ap)
000DO00000OROOODOOOOCLBgeOO00DO0O
0000000000000000000000000
0000000 Vi,V 0000ROOO GepOODO
0000 100000000000000000000
000000 Ga(S,B) = (Va,Aa,l,c)0000000
00000000000 Ga(S,B)00CLBBOODODO
0000000000 600000

(00)OO0O0oO00OO0O0ODOUOCOODUODOOOOoOOoOOD

gobogbooaoboooboobooon
oo300000oobob p.0ODODDOODDDOO

gbgboooobooboobobobobooooan

,n’}0

18

0000000000000000000 C10C20C30
ce0cC7OC8O0OODIOIOIONONOOO Cc40C50000
0000000000000000000000000
3000000000000000000000000
0000 CA00D0O000O0000 4@ 0000000
0000000000000000000000 C40
000000 304000000 ;0000000
00 Cs000000000000000000000
0000000000000000 Ga(S,B)0000
000000000000000 0

37 J0DO0OOO0OD

gboboboboboboboboboooooon
gbobooooobooboboboboboboooao
oooooocLBOOOOOOOODDOODDODD
gbobooooobooboboobooaobobooooan
gbobooooboooboooooooooooan



R5 POO

PIO o O
e

b5 g
ey

P§ R2
oy
016:RODO0 Gg,
R5 POO

PIO
R PO1
o
017:RO00 G,

R5 POO

R1 R3 R7 CD
Ve diNg

R PO1

018:RODDO Gry

gboobooooboobooboobboooooono
goood

oooooooooooRrROOOOOOoOoOooOooo
ooboooooooooobooooboooboooooo
ooboooooooooobooooboooboooooo
ROODODOOOOODOOOOOOODOOOOORDO
o0ooooooi1oobo0o0o0o0oooooooooDo
oooooo

gbgboboboooooobobobooobgan
gbobooooooobooooooobooooboooooon
gboboooboooobooboooboooooboooonon
ooooooooo20o000ooooooooooo
gobogboabooobooaoan

1. 0O00OO0O00O00Oo
ooooD0OoOooO0ObDO0O0OrRODOOOOO
v00ooooobooboooooboobooon
gbobobobobobobobobobaoa
000000000000 00000000 w;(v)
good
2. 0D0O0O0O0O0DOOoOoOooooo
obobooobOorROOODOOODOO 100

19

01900000000
goboooboooboooooobooboooon
oboooooooobooobooboooon
oooooooooOo0O0Ow, 0000000000
oobooooboooboooooooobobooooo
gooooobooog

3. 00000O0O000ooooooon
oobooboooobboobooboobooboooon
oo0000oo0000dbD w; 000000000
gobooooooooooboooooooooon
gbooobooobooboboooboooooboann
oobooobooooooooobboobooooo
goboooooobooobooobooobooon
gobooooboooobooobooboobooonon
ooood
4, O00OO0ODOOOOOO
ooooooooDDODOODODODOOROOOOO
oooooooooooooboboooobobO 1000
ooo

ooboobooooboooboobbbo11oobo00on
oooooooO3000000000ooboooobooon
gbgboooooboobaoboboboobooooao
0000000000000 000 wy(v)DODODOOO
gboboobooobooooooobooooboobo
gbobobooobooboobooobooooboobon
gooabooaood

(09 0100000000000 O0OOOOOOO
gboboobooooboobooobooooobooonbn
gbobooooooobaoboboboobooooao
gooo

OD00OROODOODOOOOOOOOOO0OOO 1600
0000000030000000000 {R1,R3,R5}0
{R2, R4}0{R6,R7} 0000000000000 O0ORA
0000000000000000000000000
0000000000R4O0O00O0000 R20000
000 (R2,R4) 0000000000000 R20 R4
000000000000000000 R200000



0000000 P20 PI3000000000000
000000 PI120000000000000000
00000000000000 RsOPI2000000
000D0ROOODOOOOOOO R7OO0O0ODOOO
ORODDODDOOOOO0OO0OO0OOOOOOROOOO
0170000

0170 ROODOOOOOOOOOOOOOOOOO
ROODOOO0O0O0O0O0O0O0O0O0O0O0000200000
00000 {R1,R3,R5}0{R6,R7}000000000
0000000000000000000000000
00000000000000000 R40OOOO00
000000000000000000000ROOO
0000000000000000000000000
000 PI2,R5, R7,R90 PI0O,RA0OO0O0O0O0000
00000000000000 O

oboboobooobooobooboboo 40040
ooboobo0 g Ooooooooooboobooobobooo
gobooooooboooooooobooooooooon
ooo

4. OO0O0O

uododoouoouoouououoooooooooooa
000000000 Dell PowerEdge 2950 (Red Hat Linux
v.5, CPU 2.33GhzQuad, 000 4GB) 00000

O000O0ODFTO0O0ODOOOOODODOO OriginaldO
o0oooooobrSO0O00OOOOODOOCOOODO
00000 [12I0FTODODO0O00ODDODO00O0O0n
ooboobooPTOOOOUOOUODLDOD 400000
000 30000000000 OrFOODOODO
ooooo3000boooooooooboobobooo
ggbodbdoooboobooobouobuobobooa
gogdooONOTODOODOODOO 100000000
gboobooboboboboboboboobooooo
O00O000D0O00DO0O0D0OOx M FFOO+10O+
OFFOO00O0DO0DOOO0ODOOO0ODO0ODOOO0O CLB
gogobooobbooobooouoobbooboobo
0000000000 [M6l0000ooooooon
gbooboooobooooboboooooboboon
00000000 10000000 0000000 wWfOOO
O OriginnlDDO0O0O0O2400000000000000O
gobooooon

oooooboOobOOoOobooooborSODOOOODO
ggoboooboobobooobobooboboooboo
OFTOPTODOOODOODOOODODORSOOOODODO

20

gbobooooooobooobooboboooobooonon
ooboboooobobooobooboobobo0ooboooDo
oOoooorSOO0ODOCOOOODOOODODOOOO
gbobooboooboooboobooooboooooDo
OO000000000PTOODOO /1600000 (diff)O
oboboooboooobooooboobooooooooDo
gbobooobooboooobooboooobooonDn
goooboooooo

oobooboooobooooorTobOoooobobogon
OOoooPTOOOOOOOFTDOOOOPTOOOOD
O0000000000D00000 140000 (diffoo
oobooooobooobooobooboooooooDo
oboboooboooooooobooobbo0obooboooooDo
gobooooooboooboooboooboonbo
O00000000D0exA0DO000O0ODODOFTD
oobpPTODOOOOOOODOOOOOOOOODOOO
PTOOOOOOOOODOOOODOODODOODOD0OO
oooooooooooOobo0ooooboobooooloooo
obobooobooobooboooboooboobooooooDo
oobooooopPTO FTOOODODOOOOOOODODOO
oooooooopTOOOODOOOODOOODOOOD
gbobooboooboboooboobooooobooonon
goooooooooobobobooDbOoUogooboo 3goo
Originnl 00 000000000000 OOOOOOO
0000000000 O0D0000O0 OriginalD 0000
goboooooobooooooboobooooonon
obooooooo

5. gog

gbobobooooboboboboboboboan
goboooooobooooooboobooooonon
gboobooboooooooooobooobobooonbon
gbobboooooboobaoboboboobooooao
gbobooooboooboboboboooooao
gbobooooobooboobooobooooobooonon
gbobooboboobooboooboooobooonbn
gbobooooooooboboboboooooan
oooooooooclBOOOOODOOODOOO
gbobooobooobooobbobooooooobooonbn
goooboobooboboooboobobooboooo
gogodoooooobobooobobboobooboobooboobo
gbobooobouoooobobobobooooao
gbobooboobobooooboobooooooboooonon
gboooboobooboobooboooboaobaan
gboboooboooobooooobobogoboao



030000

oo | FFO | OO DFT O oo ooo |odgod ooooo |oboood

oo ooooooo (ooooo 00 |0Oo(@oog) 00 [s]

Original - 42 70.55 200 9875.04

FS 280 56 100.00 2336 0.01

ex1 40 | 3065 FT 73 56 100.00 336 0.05

PT 49 58 100.00 348 0.13

Original - 61 99.97 238 62.55

FS 672 41 100.00 4073 0.02

ex2 96 | 4949 FT 96 56 100.00 280 0.04

PT 48 48 100.00 288 0.35

Original - - - - -

FS 336 71 100.00 3527 0.11

Iwf 48 | 5262 FT 145 82 100.00 492 0.30

PT 97 71 100.00 426 1.05

Original - 27 96.38 199 3551.20

FS 616 74 100.00 6674 0.04

trap 88 | 5369 FT 75 90 100.00 720 0.11

PT 50 89 100.00 712 0.26

Original - 29 98.02 185 1960.27

FS 672 84 100.00 8244 111.32

diff 96 | 6687 FT 194 88 100.00 880 136.63

PT 48 59 100.00 531 798.92

dooooooO0obOOooOobOOooooooooooon pp. 111-117.

0000000000000 000000000000 [7]1 H. Fujiwara, A new class of sequential circuits with com-

binational test generation complexity,” IEEE Trans. Com-
put., vol. 49, no. 9, pp. 895-905, Sept. 2000.

T. Inoue, T. Hosokawa, T. Mihara, and H. Fujiwara, "An
optimal time expansion model based on combinational
ATPG for RT Level Circuits,” IEEE 7th Asian Test Sym-
posium, pp. 190-197, Dec. 1998.

gbobooboooboooooobooooboonbon
gbobooboobooooooooboooboonon
obobooooooooboobooboooooooDo
oooooooooooobooooboooboooooo

(8]

oooo [9] M. Inoue, C. Jinno, H. Fujiwara, "An Extended class
of Sequential Circuits with Combinational Test Genera-
tion Complexity,” IEEE Proc. International Conference on

oooo Computer Design, pp. 200-205, Seq. 2002.

[1] H. Fujiwara, Logic Testing and Design for Testability. MIT [10] Y. C. Kim, V. D. Agrawal, and K. K. Saluja, "Combina-

Press, 1985. tional Automatic Test Pattern Generation for Acyclic Se-
[2] M. R. Prasad, P. Chong, and K. Keutzer, "Why is ATPG quential Circuits,” IEEE Trans, Computer-Aided Design

easy?,” Proc. 36th DAC, pp. 22-28, June 1999. Integrated Circuits and Systems, Vol. 26, no. 6, pp. 948-
[3] C. Y. Ooi and H. Fujiwara, "Classification of sequential 956, Jun. 2005.

circuits based on 7* notation,” IEEE Proc. 13th Asian Test [11] T. Inoue, D. K. Das, C. Sano, T. Mihara, and H. Fujiwara,

Symp., pp.348-353, Nov. 2004. "Test generation for acyclic sequential circuits with hold
[4] C. Y. Ooi, T. Clougueur and H. Fujiwara, "Classification registers,” Proc. International Conf. on Computer Aided

of sequential circuits based on 7% notation and its applica- Design, pp. 550-556, Nov. 2000.

tions”, IEICE Trans. on Info. and syst., pp.2738-2747, Dec. [12] C. Y. Ooi and H. Fujiwara, A new class of sequential cir-

2005. cuits with acyclic test generation complexity,” IEEE Proc.
[5] R.Guptaand M. A. Breuer, "The BALLAST methodology International Conference on Computer Design, pp.425-

for structured partial scan design,” IEEE Trans. Comput., 431, Oct. 2006.

vol. 39, no. 4, pp. 538-544, April 1990. [13] T. Inoue, and H. Fujiwara, ”A Partial Scan Design with
[6] A. Balakrishnan and S. T. Chakradhar, ”Sequential circuits Orthogonal Scan Paths,” 3rd Workshop on RTL data paths

with combinational test generation complexity,” in Proc.
IEEE International Conference VLSI Design, Jan. 1996,

21

to guarantee complete fault efficiency,” 3rd Workshop on



[14]

[15]

[16]

RTL and High Level Testings, Nov. 2002.
gobodo,0000,0000,0000,"000000
00000o0OOo RTLOOOOODOOOOOODOOO
oo0oooooooogo,yo00ocooooooa, vol.
89-D, No. 8, pp. 1643-1642, 2006.

H. Fujiwara, H. lwata, Tomokazu Yoneda, and Chia Yee
Ooi, ”"A Non-Scan Design-for-Testability for Register-
Transfer Level Circuits to Guarantee Linear-Depth Time
Expansion Models,” IEEE Trans. on Computer-Aided De-
sign of Integrated Circuits and Systems, Vol. 27, No. 9, pp.
1535-1544, Sept. 2008.

H. Ichihara, and T. Inoue, ”A method of test generation for
acyclic sequential circuits using single stuck-at fault com-
binational ATPG,” IEICE Trans. Fundamentals, Vol. E86-
A, No. 12, pp. 3078, Dec. 2003.

22



